KFC-W208

KFC-W208

SERVICE MANUAL

KEbW OD
AT

©1991-5 P’C\QPIYJAPAN

B51-6320-00(T) 1423
DIMENSIONS (K type) DIMENSIONS (E, M type)
7 :
'I_* T
= | T 3 ‘ ? | - £
: | e s | [ =i
: 1 R9B.5 L_'f'”
j — 13°718) ; :
as 81 . 210 (B-1/4 diad | 23 | 85 81
1516 13-316) ‘ VT ' 167161 ' i3-3 161 -

Unit: mmanch)

SPECIFICATIONS (K type)

W KFC-wW208
Subwoofer - .. 200 mm (B Cone Type
Nominal Impedance . 4 ohms
Peak Input Power . . 300 watirs
Rated Input Power ... .. . ... 100 watts

Sensitivity - .. . SZdBfwatiatim
Free Air Rmnance - . B5 Hz

Frequency Response 5510 2,000 Hz
Recommended Crossover

Frequency . . BOO Hz or lower

Dimensions Diameter: 210 mm (B-1/4")
Heaght 85 mm (BI1E")
Depth 81 mm (3-3/167}

Net Weight .. ... 1.B kg (4 Ibs)/piece

Supnplied Parts ...Screws

8 4-30mm (316" dia. - 1-1/8") xB

Chp nuts @4 (3/16" dia.) xB

[KENWOGOD foillows a policy of continuous advancements in development.
For this reason specifications may be changed without notice.)

SYSTEM CONNECTIONS

PaRRIvVE CTOssOver

o nerwork i @, .
OWE'  Pagsivae crossover natwork —— Tweator
amphifier I

= "Wo o

‘:= ﬂﬂ Midrange
e .
@ Subwooler
o ﬂ KFC W08,
(=] KEC-W208

COC plaver
TuneriDack

Uit mmenent

SPECIFICATIONS (E. M type)

& KFC-W208
Subwooler .. ... ... . .  200mm (8") Cone Type
Nominal Impedance ... .4 ohms
Peak Input Power ... . .300 watts
Rated Input Power .. 100 watts
Sensitivity ... -92 dB/wattat 1 m
Fras Air Resonance .. .55 Hz
Frequency Raspum 5510 2,000 Hz
Recommended Crossover
Frequency ...BOO Hz or lower

Dimensions.................. .. ... ... Dameter: 227.2x 215 Z mm
8-15/16 x 8-7/16"}
Height. 23 mm (7/8")
Depth 81 mm (3-3/16")
...1.95 kg {4-1/4 |bs)/piece

...Grille %2
KENWOGCD badge x2
Bohts M 4 - 70 mm i2-3/4") x 8
Screws

o4 - 40 mm (3/16" dia - 1-1/2") x8
Washers @ 4 {3/16" dia.) x 16
Spring washers o 4 {3/16" dwa.) X8
Nuts M4 x 16
Clip nuts @ 4 (3/16" dia.} xB

HENWOOD tollows 2 policy of continuous advancements in development.
For this reason specifications may be changed without notice.)

PARTS LIST

# New parts

Parts without Parts No. are nol suppiied

Les articles non mentionnés dans ie Parts No. ne sonm pas fournis.
Teile’ ohne Parts No, werden nicht geliefert.

Ref ; New “ Des-
No. |Pans| Parts No. Description tination
@ * |BO6-0652-02 | GRILLE ASSY E, M
@ B43-0868-04 | BADGE SET E. M
@ B46-0100-20 | WARRANTY CARD K, E, M
@ * | BB1-0480-00 | INSTRUCTION MANUAL ¢ K
@ * |BB1-0469-00 | INSTRUCTION MANUAL] E, M
® * F0S-1023-03 | PROTECTOR E, M
& N29-1065-08 | SCREW SET E, M
® N99-1134-04 { SCREW SET K
@ |+ |T10-0529-03 | SPEAKER K, E, M

K : North America

E : Eurcpe

M: Other Areas




